
Aluminum 10'x13'Pergola Shelter

R





4X 2X

1X

1X 1X

1X

2X 2X

1X 1X

2X 2X

1X 1X

5X 5X

4X

1X 1X

A

B

A1

B1

B2 C

C1

D1

E1

F1

G1

H1

C2

D

E

F

G

H

J 154X+5X

2XA2



OVERALL

K L

O

Q T

P R S

M N

U V

V1 XV2

16x

8

+1x 32X+2X

6

8x

4x 4x5x

+1x

+2x

2 2

H&H1

G&G1

X

XX
C&C2&C1

B&B2&B1



Attach Part X to A, then connect 
A and (A1 or A2) with J bolt. 

Do not overtighted the bolts.

Attach the poles to part I with J bolt.

Remove portective cover from poles 
as picutres below shows



Step 3

1XB

1XB1

2XR

32J X

Q 1X

M6x16

S6

C2

B2

1X

1X

1XC

1XC1

Connect B , B1 and B2 by using 

bolt J to build the main beam 1 .

Connect C, C1 and C2 by using bolt J to build another main beam 2.

V1

 

meanwhile Attach Part R to C2 using bolt J.

4x

B

B1

B

B2

J

J
B2

V1

J

J

B2

B1

J

J

V1

J

J

C

C1
C2

C2

C1

J

J

V1

J

J

R

C

C2

J

J

V1

J

J R

R

Connect B, B1, and B2 with J bolt.

Connect C, C1, and C2 with J bolt.

B1

Attach Part R to C2 
with J bolt as well.



A

A2 B

B1

C
C2

M

D

E

1M 6X

1XQ

S8

M6x15

N

N

O

OP

2XD

1XE

1N 0X

4XO

P

S

1X P tep 4

Step 5

B2

C1

A2

Connect the main beam 1 and main beam 2 with 
the four poles using bolt M.

1. Insert the hook N into the slot of part D, 

 Repeat twices.

2. Insert the hook P and hook O into 
the slot of part E.
Please insert the hook P by this 
way.Don’t insert the hook P 
opposite way as diagram! Always keep hook P and 

Attention: 

X5

C1/C2/C in the same sideof part E.

X4

X1

A1 OR

B/B2/B1

C/C2/C1

X2

/

Connect main beam 1(B, B2 and B1) and main 
beam 2(C, C2 and C1) to main poles with M 
bolt.

Slide N hook into the rail of part 
D (both two of them)

Slide part P and O into the rail of 
part E. Please slide part P as the 
pciture shows below.

Cautions: Ensure that part P attaches 
to the 
part E as the picture shows above.



Connect D and D1 with J bolt.

Connect the Cross Beam (D and D1) to the main 
poles with M bolt.



1X

1X

2X

2X

24X
M6x16

S6

1X

6X

M6x85

S6

1X

Step 8

Step 9

or

or

1. Connect E and E1 by 
using 
 

 bolt J to build 

the cross beam (E&E1).

2. Using the same method

as the last step, use F and

F1 to build the cross
beam (F&F1).  

Connect the cross beam (E&E1) and (F&F1) 
with the main beam 1 and 2.
Attention: Always keep hook P and C/C2/C1 in the same side.

E

E

E1

E1

F

F

F1

F1

J

Q

L
L

L

Q

B/B2/B1

C/C2/C1

D

D1

D

D1

V2 3x

E

E

E1

E1

F

F

F1

F1

V2

V2

J

J
J

J

J

J

J

J

Connect E and E1 with J 
bolt

Connect F and F1 with J 
bolt as well.

Connect E+E1 and F+F1 to the main beams.
Caution: Keep part P and C/C2/C1 in the same side.



Install G+G1 to B+B1+B2 with K bolt. Caution: 
Ensure that insert G+G1 into the canopy ahead 
of this step.

Stabilize H/HI to the N hook 
with J bolt. Pull the rope of the 
canopy and put on N hook
to tighten the canopy, as the 
picture shows below.

Connect H and H1 
accross N hook.

N



Overall View 



1X

16X

Step 12

Step 13

Hook  part T onto  hook P

T

Secure the foot I to the ground using part U.

U

T

E

U

I

P

S

RC/C2/C1

TOP FABRIC

Hook part T onto P hook.

Anchor the pergola to the 
ground with U bolt.



CONTACT US; WE’RE HERE 7 DAYS A WEEK TO HELP YOU!

1-818-963-1558    

     

phf@peakhomefurnishings.com

If we missed you call, please leave a detailed message including 

your name and phone number. We will call back as soon as possible.

SOCIAL MEDIA
Follow us on our Social Media by uploading a picture of  our 
brands furnishings in your home, you will have chance to get 
our newest product free.

Facebook.com/Peak-Home-Furnishings-Inc-103544141243786/

Instagram.com/peakhomefurnishings

Twiter.com/peakhomefurnis1 

©Copyright 2016 - 2021, peakhome furnishings INC. | All Rigts Reserved.

www.peakhomefurnishings.com

Check out more great products:

PEAKHOME  FURNISHINGS  INC.
970 Roosevelt #202, Irvine, CA 92620

www.peakhomefurnishings.com


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13

